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The Volume of a Right Prism

The base of the right prism is a hexagon composed of a rectangle and two triangles. Find the volume of the right
hexagonal prism using the formula V = Bh.
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1. Calculate the volume of each solid using the formula V = Bh (all angles are 90 degrees).

a. 8 cm b. 3
7c y in.
— in

12— cm — in.

[ 4lin d.

5in

4cm
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2. Let [ represent length, w the width, and h the height of a right rectangular prism. Find the volume of the prism
when:

a. l=3cm,w=2%—cm,andh:7cm.

b. l=%cm,w=4cm,andh=1%cm.

3. Find the length of the edge indicated in each diagram.

a. Area = 22 in®

Volume = 93% in?
What are possible dimensions of the base?

b. 3m

6m

Volume = 41 m?

4. The volume of a cube is 3% in®. Find the length of each edge of the cube.

5. Given a right rectangular prism with a volume of 7% ft3, a length of 5 ft., and a width of 2 ft., find the height of the
prism.
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The base of the right prism is a hexagon composed of a rectangle and
two triangles. Find the volume of the right hexagonal prism using the
formulaV = Bh.
The area of the base is the sum of the areas of the rectangle and the two
triangles.
B = Arectangle +2- Atriangle
1
Areclangle =lw Alrlangle =2 lw
1, 1, 1 1. 3.
Arectangle = 2 7 n 12 in. Atriangle = 2 (12 in.-7 ln.)
9 3\ . 1 3 3.
Areclangle = (Z : E) in? Alriangle = (i 2 Z) in?
27 . 9 .

Areclangle = ? an Alriangle = ﬁ an

_27 . 2 9 .2 _
B =% in?+2 (1 in?) V = Bh

_27 249 2 —(2in2)-3i
B—8m +8|n V—(Zm)3m.

_36. . 27, 4
B = g in V= 2 in

_9.2 _q31l: 3
B = 5 in V=13 >in
The volume of the hexagonal prism is 13% in®.

1.  Calculate the volume of each solid using the formula V = Bh (all angles are 90 degrees).
a. V=Bh 8 cm
" 7 cm
V=(@Bcm-7cm)- 12—2—cm
_ 191 3
V= (56-125) em .
V =672 cm® + 28 cm® 125 em
V =700 cm?
The volume of the solid is 700 cm®.
b V =Bh 3,
= —in.
4
—(Bin-3in)3 3
V_(Z in, 4m.) 2 1n 2 in
_(9).3,3
v=(7g) 3in 3
27 Z m.
_ Al L3
V= &z n
27 .,
The volume of the cube is o1 in”.
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c. V =Bh
41in
B = Areclangle + Asquare :
B =Iw + s?
2
B=(2%in.-4%in.)+(1%in.)
_ .2 l 2 1 ) 1 _ 1z
B—(]()m +14m)+(12m.12m.) V = Bh 17in
1t iz g (1) in2 1 3 in2 131 in2. 1
B—1l4m +(12m +4m) V—132m 7 in.
_aq o2 3.2 1.2 13,5 1.4
B—1141n+4m +12m V—2 n+4m
o .2 1 .2 —6ind L= in3 1 in3
B =12in +121n V=6in +2|n +4m
B-131in2 V=62 in®
=135 in =63 in
The volume of the solid is 6% in?,
6yd
d. V =Bh :_:_yd
B = (‘4 lg rettarlgle) - (Asm rectangle) yd
a4
By (e Tyd 5% 3yd
B:(6yd.-4yd.)—(1§yd.-Zyd.)V:Bh
_ 2 _ 2,2 _ 1 ). 2
B=24yd (2yd +3 yd?) V_(z13yd) 3 vd.
_ 2 _ 222 _ 3, (1 2 2
B =24yd*—2yd* - yd V=14yd +(3yd 3yd.)
B =22yd* 2 yd? V=14yd + 2 yd’
1 ., 2 3
B-215yd V=147 yd
The volume of the solid is 14% yd3.
a. V = Bhyism
1
B = Ebhtriangle V =Bh
1 . 7
B=§-4cm-4cm V=8cm -6ﬁcm
4cm
B =2 4cm? V=4-8cm3+%cm3
6 ] 6% cm
B = 8 cm? I/'=48cm3+5|:m3+ﬁcm3 4cm
I/'=53cm:‘+%cm3
_e33 3
V—535cm
The volume of the solid is 53% cm®.
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f. V = Bhy,ism

1
B = Ebhtrlzmgle V=Bh 5in
1.3 . 1. (57 3\ e

B_f 9Em. sz. V—(Sm)Sm.

I N - I _ .3
B_i sz. 92 in V=57in

(11 . (93)in2
B_(14) (925)’“

/5 228\,
B‘(Z' 25)“1
B = 5—57 in? The volume of the solid is 57 in>.

6;cm
B- V = Bh 4cm
B = Areclangle + Alrlangle V =Bh [
1 1 4icm
B =Iw+5bh V=233 cm” 9 cm
9cm

(5 em- 1 11 _ 3,92 o8 i
B—(54cm 4cm)+2(4cm 14cm) V =207 cm +Zcm 5lem
B:(20cm2+1cm2)+(2cm-1% cm) V:207cm3+4cm3+%cm3
B=21cm2+2cm2+%cmZ V=211%1:m3
B=23cm2+%cmZ
B = 23% cm? The volume of the solid is 211% cm?,

h. V =Bh

B = Areclangle + 2Atrlangle

R RS B

3_10 in +40 in

B2 inz4+ L in2 The volume of the solid is — in®
70 70 PR
5 = 2

B—mm
1.,

B—Bm
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3.  Find the length of the edge indicated in each diagram.

93% in>=22in%-h
93% in? = 22h in?
22h = 93.5in.
h=4.25in.

What are possible dimensions of the base?

11in.by2in,or 22 in. by 1 in.

V= (3bheriangte) Bpriom
4= m3:(%-3m-h)-6m
42 mP=1-18m? h

4% m? = 9h m?

9h =4.5m

h=05m

The height of the triangle is %m.

2. Let lrepresent length, w the width, and h the height of a right rectangular prism. Find the volume of the prism

when:
a. l=3cm,w=2%cm,andh=7cm.
V =Iwh
1
V=3cm-2§cm-7cm
—21-(21 3
v=21-(25) cm
1 . R |
V= 522 cm The volume of the prism is 522 cm
1 1
b. I=—cm,w=4cm,and h =15 cm.
4 2
V =Iwh
V=Lem acm-11
=zcm 4cm- 15 cm
y S R |
V= 15 cm The volume of the prism lsli cm

a. V =Bh Let h represent the number of inches in the height of the prism.

The height of the right rectangular prism is 4--} in.

b. V =Bh Let h represent the number of meters in the height of the triangular base of the prism.

Area = 22 in?

1
Volume = 935 in®

3m

6m

Volume = 41 m?
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4. The volume of a cube is 3 % in3. Find the length of each edge of the cube.

V = s°, and since the volume is a fraction, the edge length must also be fractional.

3,327 3

38m =g in

3.3 _3 3 3
3§m =5 in in in
3.3 (3 3

3§m —(Zm)

The lengths of the edges of the cube are % in. = 1% in.

5.  Given a right rectangular prism with a volume of 7% ft3, a length of 5 ft,, and a width of 2 ft, find the height of the

prism.
V=Bh
V=_w)h Let h represent the number of feet in the height of the prism.

1
7'E ft® = (5ft.-2ft.)- h

1
7E ft: =10ft2-h

7.5 ft* = 10k ft*
h=0.75ft

The height of the right rectangular prism is i— ft. {or 9 in.).
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